Let 
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 be a graph such that every two odd cycles intersect. Prove that
[image: image2.wmf]()5

G

c

£

.

(The minimum integer 
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for which a graph 
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 is 
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-colorable is called the vertex chromatic number, or simply the chromatic number of
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, and is denote by
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, this problem is about graph coloring).
Please your proof have to be perfect proof, this means very careful and explain step by step.
 The other thing is: you must list in detail   all resources which you will have used. 

If you use references you say like that “It was proved in [1], Theorem 1.2.3, that …. (In here you have to write the theorem).
Write the book, author, chapter, page, every thing about that references what you will use.
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